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Rezultaty wyrazen

Result

SingleResult CollectionResult

IntegerResult ReferenceResult BagResult SequenceResult
val : integer val : OID val : SingleResult[] val : SingleResult[]

BooleanResult StructResult
val : bool val : SingleResult[]

StringResult BinderResult
val : String name : String
val : Result

RealResult
val : double




Przyktad implementacii
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public clazs BagResult extends CollectionResult {
public Yector wal = new Yector();
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public void addResult(SingleResult res)y {
vl .addE Lement. (res’);
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public void addResults({SingleResult[] res) {
for {int i = B; i <« res.length; i++)
vl addE lement {res[1]0;
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public SingleResult resultAt{int i) {
return (SingleResult)y wal.elementAt{i);
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public int size() {
return val.size();
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Stos (rezultatéw)
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: odra.sbgl.stack;
import java.util.*;

import odra.store.*;
import odra.sbgl.quervresult.®;

public c : SBOLStack {
pri Stack ORES = new Stack();

public void pushResult{Result res) {
ORES.pushires);

public Result popResult{) {
return (Result) QRES.pop(;
L

public Result peekResult() {
return (Result) QRES.peek();




Metody visit dla prostych wyrazen

public Object visitIntegerExpressiondIntegerExpression node, Object obj) { public Object visitCommaExpression{CommaExpression node, Object obj) {
stack .pushResult{hew IntegerResult{hode.L.V3); BogResult commares = new BogResult();

return null; node .E1.accept(thiz, obj);
node E2.accept(thiz, obi’;

Result eZres = stack.popResult();

public Object wizitBooleanExpression{BooleanExpression node, Object obj)
Result elres = stack.popResult();

stack .pushResult{new BooleanResult{node.L. V3

return null; SingleResult[] eZsres = (SingleResult[]) eZres.elementsTodrray();
SingleResult[] elsres = {SingleResult[]) elres.elementzTodrray();
for {int i = B; 1 < elsres.length; i++) 4
public Object wizitGroupAsExpression{GroupAsExpression node, Object obj) for {int j = 83 j < eZsres.length; j++3)

node E.accept(this, obj); StructResult strres = new StructResult();

Result eres = stack.popResult(); strres.oddFields{elsres[1].f ieldsToArray{));
strres.oddFields{eZ2sres[j].fieldsToArray));
stack .pushResult (new BinderResult{node.I.V, eres));
commares addResu Lt (strres;
return null;

¥

stack .pushResult{commares’;

return null;
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Problem z visitBinaryExpression
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Stos (rezultatéw i srodowisk)

SBQLStack

ENVS : java.util.Vector
QRES : java.util.Stack
push(res : Result)

pop() : Result

openSection()
closeSection()

enter(binder : BinderResult)
bind(name : String) : Result[]

data : java.util. Vector

enter(binder : BinderResult)
bind(name : String) : Result[]




Operator .

public Object wisitDotExpression{DotExpression node, Object obi) {
BogResult dotres = new BagResult();

node .El.qccept{this, obil;
SingleResult[] elsres = stock.popResult().elementsTodrray();
for {int i = B; 1 = elsres.length; i++) 4

createEnvironment (elsres[i]);

node .E2.accept(thiz, obj);

deleteEnvironment () ;

SingleResult[] e2sres = stack.popResult().elementsToArray();

dotres.oddResults({e2sres);

I

stock.pushResult{dotres.size() == 1 7 (Result) dotres.resultAt{d} : (Result) dotres);

return null;




Metoda nested

private void nestedMd(Result res) {
if (res instonceof ReferenceResult) {
ReferenceResult rres = (ReferenceResult) res;

0ID[] subobj = store.getMestedObjects(rres.val);

for {int i = B; 1 < subohj.length; i++)
stack.enter{new BinderResult{store.getObjectMame{subobi[i]), new ReferenceResult(subob][1]330;

else if (res instanceof StructResult) {
StructResult ssres = (StructResult) res;

for (Erumeration e = ssres.val.elements(); e.hosMoreElements(); 3
nestedMa (Result) e.nextElement());

elze if (res instanceof BinderResult) {
BinderResult bres = (BinderResult) res;

stock .enter (bres);

pubilic OID[] getMestedObjects(0ID oid) {
SBAObject obj = (SBADbject) data.get{oid);

switch {obj.getObjectType)) {
caze SBADbject .SBA_OBJECT _SPIDER:
SpiderObject sobj = (SpiderObject) obj;
return (0ID[]) {sobj.val.tosrray{new 0ID[sobj.val.size()]));

cose SBAObject .SBA_DBJECT _REFERENCE:
Referencelbject robj = (Referencedbject) obj;

0ID[] rval = { robj.val };
return rval;

default:
throw new RuntimeException("Unexpected object");
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